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1600x— = 30 > 20 psi
1600x— = 20 = x = 1.25 psi/100 ft
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4x10+4%2+4%2=56 SFU=52.4 gpm
Q=52.4 gpm , AP=7 mwg/100 m=3.1 psi/100 ft = d = 2 in, V>4 m/s

V=Amis=d =25 in
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AP,=1x22% — 0.8 in.wg.
0.075

P,=12.6 x22%% — 10.08 hp
0.075
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24 KW=20,650 kcal/hr
H=9m , R=0.3m , q=3x20.650=61.95x1000 kcal/hr = D; = 200 mm
H=9m , g=3x20.650 = 61.95x1000 kcal/hr => D, = 200 mm < D3 = D, = 250 mm
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Trmpe=80 F , RH=50% = Try, wp = 66.5F
Tmape=0.25%90+0.75x80=82.5 F
Tmawe=0.25x74+0.75%66.5=68.4 F = hy, = 32.8 Btu/lb
Tsape= 58" F, Tsaws= 56°F = hg, = 23.8 Btu/Ib
0=4.5x20,000x(32.8-23.8)=810,000 Btu/hr ~ 67 TR
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Toe=77F , RH=55% = W, = 76 gr/Ib
Tos=55F , Twe=51F = W, =49 gr/lb
- 4.5%X15,000%(76—49) ~ 31 gal/lb
7000x8.33
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Qin=VA=,/2Pgh Ah A = ¥2 x 1000 X 10 X 0.01 X 1 X 0.8 = 11.3 m®/s =40,680 m*hr
Qout=0.95 Qin 38,700 m*/hr
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Q=135 m%*hr = NPSHR = 8.375m

T=13C= P, = 0.01512bar = h, = 0.1512m
NPSHA=h,- hs-hy-hf= h; =10 —0.1512 — 1 —8.375 ~ 0.47 m
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h=6+2+2+(0.075x45)~ 13.5 m




